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Answer all the questions as directed as per given instructions unit wise.

[bdkbZ&1  Unit-I]

1. 5

Write the factor affecting mechanism of nucleophilic substitution in AAryl Halide.

Aryel Halide 2

Explation the short in Eletrophyilic subsittution in Aryl Halide.

OR

2×3=6

Complete the following reaction :

(i) CHCl
3
 + 6 Ag + CHCl

3
 ? (ii) C

6
H

6
 + Cl

2
 ?

(iii) CH
3
COCH

3
 + Cl

2
 + NaOH ?

[bdkbZ&2  Unit-II]

2. 7

Complete the following reaction :

(i)

+  CHCl3 ?
NaOH

OH (ii) CH OH2

CHOH
?

P O2 5

(iii) CH Cl2

CH OH2

?+ KOH

7

Explation the following :

(i) Glycol DiAcetate from Glycot. 

(ii) Acrolein from Glyceral  

(iii) Picnic acid is a strong acid. Although it dos not contais a carboxylic acid.

[bdkbZ&3  Unit-III]

3. 7

Complete the following reaction :

(i) CH CHO3
?

Tollen Reason (ii) C H –CO–CH6 5 3 ?
H

Zn|Hg|HCl

(iii) C H –CO–CHO6 5 ?
Alc KCN

(P. T. O.)



OR

7

What happens when :

Calcium Acetate heated in dry environments.

NaOH 

Acetone reacts with NaOH and Iodine mixture.

Phenyl Cyanide is heated with SnCl
2
 and Conc. Hcl and product is hydrolysed.

[bdkbZ&4  Unit-IV]

4. 2×3=6

Complete the following reactions :

(i) (CH
3
COO)

2
Ca + (HCOO)

2
Ca

(ii) RCOOR' + 4H
Na/C H OH2 5

(iii) A
NH3 Heat P O2 5 H

B C D CH
3
CH

2
NH

2

OR

Complete the following :

(i) R–COOH 
LiAlH4 ?

(ii) R–CO–NH
2
+Br

2
+4KOH ?

(iii) Cl–COOC
2
H

5
+NH

3
?

[bdkbZ&5  Unit-V]

5. 2

(i)    CH
3
NH

2
(ii)  (CH

3
)

2
NH (iii) NH

3
(iv)  C

6
H

5
NH

2

Write the following in increasing order of bascity in gas phase :

(i)    CH
3
NH

2
(ii)  (CH

3
)

2
NH (iii) NH

3
(iv)  C

6
H

5
NH

2

2×2=4

(i) (ii)

How can you convert the following :

(i) From Ethyl Amine to Methyl Amine (ii) From Methyl Amine to Ethyl Amine

2×3=6

Complete the following reaction :

(i) (C
2
H

5
)

2
 NHBr /NaOH2

(ii) C
6
H

5
N

2
Cl + 2H

SnCl2

NaOH

(iii) C
6
H

5
N

2
Cl + HNO

2

Cu O2
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